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Starting Six 1.8 

What is 35% of £150 Work out £2.54 x 9 
 

 

(a) Write 0.47 as a fraction 
 
 
 
 

(b) Write 
29

5
 as a mixed number 

 
 

Write 110 as a product of prime factors 
 
 

 

Solve: 
𝑥

5
 = 2½  

 
 
 

Solve: 9x - 10 = 3x + 8 
 

 

Score ___ / 6 

Factorise: 18 – 9m 
 

 
 

Factorise: x2 - 4x + 4 
 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

www.accessmaths.co.uk 

Starting Six 1.8 

What is 35% of £150 
 

Work out £2.54 x 9 
 

 
 

(c) Write 0.47 as a fraction 
 
 
 
 

(d) Write 
29

5
 as a mixed number 

 
 
 

Write 110 as a product of prime factors 
 
 

 
 

Solve: 
𝑥

5
 = 2½  

 
 
 

Solve: 9x - 10 = 3x + 8 
 

 
 

Score ___ / 6 

Factorise: 18 – 9m 
 

 
 

Factorise: x2 - 4x + 4 
 

 
 


